— DIMENSIONS —

1: LENGTE =388

S5:DIEFTE =488

7:HOOGTE =688
DELEN 1 Z 4 =4

=

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:BREEDTE_1 =488
:DIEPTE =488
:BREEDTE_Z =488
RADIUS 1
RADIUS_Z

*NEEK_1

*NEE_Z

*HOEK

:RADIUS_ 1D
RADIUS_ZD B
RADIUS_3D a
*M_GATEN a
AIRTURN_B_1 =8
:LIP_AIRTURN =@

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

: BREEDTE =306]
:DIEPTE =388
*HOOGTE_1 =258
*HOOGTE 2 =Z88
RADIUS 1 158
RADIUS_ 2 158
:VERSCHIL

*NEEK_1

‘MEEK_Z

*NEEK_32

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:BREEDTE_1
:DIEPTE
:BREEDTE_Z
: LENGTE
*MEE_1
*NEEK_Z
:UERSCHIL

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:BREITE =306]
*HOEHE =388

: DURCHH =188
:ZENTRX =158
:ZENTRY =158

: ANSKL =15

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:BREEDTE_1 =406)
DIEPTE_1 =468
:BREEDTE_Z =Z88
:DIEPTE_Z =Z88
*HOOGTE =688
*NEEK_1 =3Aa
*NEEK_Z =38
UERPLAATE X1=188
VERPLAATS XZ=-168A
-VERPLAATS_Y1=188
UERPLAATE YZ2=188

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

: BREEDTE =488
:DIAMETER =388
:DIEPTE =468
*HOOGTE

*NEEK_1

‘MEEK_Z
:VERSCHIL 1
VERSCHIL_2Z
*VERSCHIL_3
:VERSCHIL_4
TYPE_124
VERB_A_1

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIMENSIONS —

: BREEDTE =388
:DIEPTE =588
*HOOGTE =258
*HOEK =3a
TYPE_1 2 4 =1
VERB_A_1 =1

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8




LONG =8

LONG =8

TRAS1=8

TRAS1=-8

TRASZ=8

TRASZ=8

TRAS3=8

TRAS3=8

TRAS4=8

TRAS4=-8

— DIMENSIONS —

1: BREEDTE =406
S5:DIEFTE =588
7:HOOGTE =488
14:RADIUS 1 =Z88
15:RADIUS_Z =388

— DIHENZSIONE —

1: BREEDTE =488
5:DIEFTE =468
7 HOOGTE =388
14:RADIUS =Z88
T:TYPE 2 4 =4




— DIMENSIONS —

: LENGTE =606
*HOOGTE_1 =388
*HOOGTE_2 =388
:DIEPTE =388
*NEEK_1 188
‘MEEK_Z 188
RADIUS 1 =158
:RADIUS 2 =158
RADIUS_ 3 =458
RADIUS 4 =458
:VERSCHIL =388

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:BREEDTE_1 =6a6]
:BREEDTE_Z =368
:DIEPTE =588
*HOOGTE =
*MEE_1 =
*NEEK_Z

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:BREITE_1 =688
:TIEFE_1 =388
:BREITE_2Z2 =188
:BREITE 3
:BREITE_4
:TIEFE_Z

: LAENGE

:GERADE_1
:GERADE_2Z
VERSATZ_1
VERSATZ_Z

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:BREITE_1 =zaaj
TIEFE =288
:BREITE_Z2 =Z88
:BREITE_3 =Z88
*HOEHE =788
:BREITE_4 =488
RADIUS_1 =158
RADIUS_Z
:GERADE_1
:GERADE_Z
:GERADE_3
:VERSATZ

:WINKEL
RADIUS_1D
:RADIUS_ZD
RADIUS_3D
‘N_LOCH

:LEITE B_1
ZUG_LEITE

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:BREITE_1 =Z88
:TIEFE =Z88
:BREITE_2Z2 =288
RADIUS 1 =188
:RADIUS 2 =388
RADIUS_ 3 =188
RADIUS 4 =388
:GERADE_1 =58

:GERADE_2Z =58

:WINKEL =98

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:LARGHEZZA_1 =268
:PROFONDITA =288
:LARGHEZZA_Z =268
RAGGIO_1 =1Z8a
'RAGGIO_Z =328
*RETTA_1 =3a
*RETTA_Z =38
TANGOLO_DES =98
:LARGHEZZA_3 =268
:LARGHEZZR_ 4 =488
ALTEZZR =788
:RETTA_32 =3a
: SPOSTAMENTO =188
:LARGHEZZA 5 =288
:LARGHEZZA_6 =268
RAGGIO_3 =128
:RAGGIO_4 =328
:RETTA_4 =3a
ANGOLO_SIN =98

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

: LARGHEZZA_1 =256]
:PROFONDITA =258
:LARGHEZZA_Z =258
‘ALTEZZA_ 1 =258
'ALTEZZA_Z 258
*RETTA_1 188
:RETTA_Z =188
:RETTA_32 =188
*RETTA_4 188
RAGGIO_1 188
RAGGIO_Z =188

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DURCHMES_D =186]
:DURCHHMES _aA =288
:DURCHMES B =148.88
:DURCHMES_C 138. 88
DURCHHES_E =136.88
*HOEHE_G =Za
*HOEHE_H =88.88
*HOEHE_1I

*HOEHE_L

‘WINKEL_ 1

WINKEL_Z
TYPE_A_124

TYPE_B 124

TYPE_D 124

TYPE_E 124

M-I OEOE DD

I I

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

1:DURCHMES_1 =68A8
Z2:DURCHMES_2 =4086]]
3:DURCHMES_LOC=18
4:DURC_INTERAS=58A
*NUM_LOCH =6

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DURCHMES 1 =368
*HOEHE_1 =218
:DURCHMES 2 =688
*HOEHE_Z 138
:DURCHHMEES_3 328
*HOEHE_32 =12A
ZILINDER_B_1-8
'TYPEAL 2 =1
TYPEBR1_2Z =1

WO LD CD I =] e

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

1:DIAMETER_1 =68A

Z:DIAMETER_Z =388

3:HOOGTE =688
TYPEL 2 4 =1

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DIAMETER_1 =668
:DIAMETER_Z
*HOOGTE

KRAAG_1

'KRAAG_Z
:VERSCHIL_1
UERSCHIL_Z
TYPE_ 1 2 4

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:DURCHHMES1 =caal
: DURCHHMESZ =388
*HOEHE =588
:VERSX =188
:VERSY
‘WINKEL1
‘WINKELZ
TYPE_124

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DIAMETER_1 =306]
DIAMETER_Z =158
*HOOGTE_1 =488
*HOOGTE_2 =Z88
UERECHIL =
:VERPLAATS =125
*HOEK =98
UERB_A1234 =1
A_TYPE 1 2 4=1
UERB_B1Z34 =4

B TYPE 1 2 4=1
*HOEK_TEKENIN=75

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:DURCHMES_1 =866j
:DURCHHMES_2 =488
*HOEHE_1 =588
:DURCHHMES 3 =268
:DURCHMES_4 3688
*HOEHE_Z 368
:GERADE 1
:GERADE_Z
:GERADE_3
:VERSATZ
‘WINKEL_1
‘WINKEL_2
:WINKEL_3
:WINKEL_4
:VERB_1234
TYPEA_124
TYPEE_124

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DIAM_1 =400
:DIAM_2 =240
:DIAM_3 =248

: LUNGHEZZA1 =688

: LUNGHEZZAZ =608

: ANGOLO1 =22.58
: ANGOLOZ =22.58
: ANGOLO3 =9@

: ANGOLO4 =98
TIPO_1.2 =1
:SORINT_1_18 =18
:ANGOLODIS =78

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

1: BREEDTE =Z88
S5:DIEFTE =388
Z:DIAMETER =488
7 HOOGTE =Z88
17 :VERPLAATS =8
TYPE_Z 4 =4

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DIAMETER
NEEK_1

*NEEK_Z
:RADIUS

*HOEK
ANT_MID_SEG
TYPE_1 2 4
VERB_ 8 1 2 3
:LIP_GROOT
:LIP_KLEIN
:LIP_VERB
*HOEEK_TEKENIN=

=@ TRAS1=8 TRASZ2=8 TRAS3=8 TRAS4-8




— DIMENSIONS —

:DIAMETRO =258
: LUNGHEZZA =658
:SPOSTAMENTO =588
:RAGGIOMEDIO =258
*RETTA_1 58
*RETTA_Z S8
NIMFASCEINT
:TIPO_1 2
TERM_B_1 2
GIUNTA_1234
ANGOLODI 3

a
1
a
4
T

5

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8

— DIHENZSIONE —

:DIAMETER_1 =588
DIAMETER_Z =258
:DIAMETER_3 =258
*HOOGTE_1
THOOGTE_Z

: KRAAG

‘GAT_B_1
RADIUS_GAT =28

LONG =8 TRaAS1-8 TRASZ=B TRAS3=8 TRAS4-8




— DIMENSIONS —

:DIAMETER_1 =468
:DIAMETER_2 =268
:DIAMETER_23 =688
:DIAMETER 4 =368
*HOOGTE_1 3688
*HOOGTE_2 188
*HOOGTE 3

30000 =] W D0 [

[

LONG =8 TRAS1=8 TRASZ=8 TRAS3=8 TRAS4=8




